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Problem I:

The shaft with the two levers shown is used to change the direction of a force. Determine the
force P for equilibrium and the reactions at supports A and B. The support at A is a ball bearing
(can slide along y-axis) and the support at B is a thrust bearing (pin). The two bearings exert only
force reactions on the shaft, i.e allows rotations. (25 points)

Note: FBD must be included
Calculations:
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Problem II: @
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1) Determine the external reactions at the roller support A and the pin at H. (5 points)
2) Determine the force in members DF, DG, EG using the section method. Also solve for

the force on members FG, DE, AB, and AC using the appropriate method of analysis.
(35 points)

Note: FBD must be included
Calculations:
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Problem III: |/ Lém 0.4 m

1.6 m

1) Determine the external reactions at pin A and roller D, and the internal forces of the
frame. (35 points)

Note: FBD must be included

Calculations:
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